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 AEC-01  

BACHELOR’S DEGREE PROGRAMME (BDP) 

Term-End Examination 

December, 2022 

 

(APPLICATION ORIENTED COURSE) 

AEC-01 : ENVIRONMENTAL CHEMISTRY 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt all questions. The marks for each  question 

are indicated against it. 

 

1. (a) Complete any five of the following : 51=5 

(i) Cadmium metal is responsible for 

_________ disease.  

(ii) Full form of IPM is _________.  

(iii) An example of indicator electrode 

used in pH metric titration in a lab is 

_________.  

(iv) The concentration of pollutants 

_________ with increase in wind 

speed.  

(v) _________ is the study of science of 

atmosphere.  

(vi) _________ as pollutant causes 

fluorosis in animals.  
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(b) Define any five of the following :  51=5 

(i) pH 

(ii) Molar Conductivity 

(iii) LD50 valve  

(iv) Molality  

(v) Rodenticide  

(vi) COD 

 

(c) Answer any five of the following :  52=10 

(i) What is the significance of max and 

E value ?  

(ii) What does the SAR value of a water 

sample signify ?  

(iii) Explain the term Eutrophication.  

(iv) Define natural air pollutants and give 

two examples.  

(v) Write the name of one method each 

for the analysis of carbon monoxide 

and sulphur dioxide.  

(vi) Name any two agents that can pollute 

the soil and cause disease.  
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2. Answer any four of the following : 45=20 

(a) What is the difference between auxochrome 

and chromophore ? Explain how the blue 

shift is caused by auxochromes.  

(b) Describe the effect of ozone layer depletion 

on global warming and air pollution.  

(c) Write the various water quality criteria of 

water used for drinking and irrigation.  

(d) Describe the various health hazards caused 

by ingestion of biological agents through 

water.  

(e) Describe complexometric titration. Explain 

its applications in quantitative analysis.  

3. Answer any four of the following : 45=20 

(a) List any five strategies to reduce 

environmental pollution due to fertilizers.  

(b) Write the various mechanisms by which air 

pollutants cause damage to materials.  

(c) Write the important parameters required for 

the proper treatment of sewage.  

(d) Draw a labelled schematic diagram of atomic 

absorption photometer.  

(e) What are the various reference electrodes 

used in potentiometric analysis ? Explain 

the composition of any one electrode.  
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4. Answer any four of the following : 45=20 

(a) Briefly describe the characteristic features of 

different soil horizons.  

(b) What are the Macronutrients in plants ? 

Explain the role of nitrogen and potassium 

for the growth of plants.  

(c) Explain the natural factors which effect the 

quality of water.  

(d) Briefly describe the aeration method for the 

treatment of dairy waste and write the 

problems associated with it.  

(e) Write the characteristics of an ideal 

pesticide.  

5. Write short notes on any four of the  

following : 45=20 

(a) Conductometric Titrations  

(b) Indicator Microorganisms  

(c) Paper Chromatography  

(d) Sampling of Soil for Analysis  

(e) Rain Water Harvesting  
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 E.B©.gr.-01  

ñZmVH$ Cnm{Y H$m`©H«$_ (~r.S>r.nr.) 
gÌm§V narjm 

{Xgå~a,  2022 

(ì`dhma_ybH$ nmR²>`H«$_) 

E.B©.gr.-01 : n`m©daU agm`Z 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  g^r àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ Ho$ A§H$ CgHo$ gm_Zo 
{XE JE h¢ &  

1. (H$) {ZåZ{b{IV _| go {H$Ýht nm±M  H$mo nyU© H$s{OE : 51=5 

(i) H¡$S>{_`_ YmVw _________ amoJ Ho$ {bE 
CÎmaXm`r hmoVr h¡ & 

(ii) IPM H$m nyU© ê$n _________ hmoVm h¡ &  

(iii) à`moJembm _| pH {_{V AZw_mnZ _| à ẁº$ 
gyMH$ BboŠQ>́moS> H$m EH$ CXmhaU 
_________ h¡ &  

(iv) dm`w H$s J{V Ho$ ~‹T>Zo Ho$ gmW àXÿfH$m| H$s 
gm§ÐVm _________ h¡ &  

(v) dm`w_§S>b Ho$ {dkmZ H$m AÜ``Z 
_________ hmoVm h¡ &  

(vi) àXÿfH$ Ho$ O¡go _________ newAm| _| 
âbwAmoamo{gg H$m H$maU hmoVm h¡ &  
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(I) {ZåZ{b{IV _| go {H$Ýht nm±M  H$mo n[a^m{fV  
H$s{OE : 51=5 

(i) pH 

(ii) _moba MmbH$Vm  

(iii) LD50 _mZ  

(iv) _mobbVm  

(v) H¥$VÝH$Zmer 

(vi) COD  

(J) {ZåZ{b{IV _| go {H$Ýht nm±M  Ho$ CÎma Xr{OE : 52=10 

(i) max Am¡a E _mZ H$m Š`m _hÎd hmoVm h¡ ? 

(ii) {H$gr Ob Ho$ Z_yZo Ho$ SAR _mZ H$m Š`m 
_hÎd hmoVm h¡ ? 

(iii) gwnmofU nX H$s ì`m»`m H$s{OE & 

(iv) àmH¥${VH$ dm`w àXÿfH$m| H$mo n[a^m{fV H$s{OE 
VWm Xmo CXmhaU Xr{OE & 

(v) H$m~©Z _moZmoŠgmBS> VWm gë\$a S>mBAm°ŠgmBS> 
àË`oH$ Ho$ {díbofU Ho$ {bE EH$-EH$ {d{Y 
H$m Zm_ {b{IE &  

(vi) _¥Xm H$mo àXÿ{fV H$aZo dmbo Am¡a amoJ Ho$ 
H$maU dmbo {H$Ýht Xmo H$maH$m| Ho$ Zm_ 
{b{IE &  
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2. {ZåZ{b{IV _| go {H$Ýht Mma  Ho$ CÎma Xr{OE : 45=20 

(H$) dU©dY©H$ VWm dU©_ybH$ Ho$ ~rM Š`m A§Va hmoVm h¡ ? 

ì`m»`m H$s{OE {H$ dU©dY©H$m| Ûmam ‘ãby {eâQ>’ {H$g 
H$maU go hmoVm h¡ &  

(I) d¡pídH$ VmnZ Ed§ dm`w àXÿfU na AmoµOmoZ naV õmg Ho$ 
à^md H$m dU©Z H$s{OE &  

(J) nrZo Am¡a qgMmB© Ho$ {bE à`wº$ Ob Ho$ {d{^Þ Ob 
JwUdÎmm _mnX§S> {b{IE &  

(K) Ob Ûmam A§VJ©«{hV O¡{dH$ H$maH$m| Ûmam CËnÞ {d{^Þ 
ñdmñÏ` g§H$Q>m| H$m dU©Z H$s{OE & 

(L>) g§Hw$b{_Vr` AZw_mnZ H$m dU©Z H$s{OE & _mÌmË_H$ 
{díbofU _| BgHo$ AZwà`moJm| H$s ì`m»`m H$s{OE &  

3. {ZåZ{b{IV _| go {H$Ýht Mma  Ho$ CÎma Xr{OE : 45=20 

(H$) Cd©aH$m| Ho$ H$maU dm`w_§S>br` àXÿfU H$mo H$_ H$aZo H$s 
H$moB©-gr nm±M ẁ{º$`m± gyMr~Õ H$s{OE & 

(I) CZ {d{^Þ {H«$`m{d{Y`m| H$mo {b{IE {OZHo$ Ûmam dm ẁ 
àXÿfH$ nXmWm] H$mo hm{Z nhþ±MmVo h¢ &   

(J) dm{hV _b Ho$ Cn`wº$ CnMma Ho$ {bE Amdí`H$ à_wI 
àmMb {b{IE &  

(K) AmpÊdH$ AdemofU àH$me_mnr H$m Zm_m§{H$V a¡{IH$ 
{MÌ ~ZmBE &  

(L>) {d^d{_Vr` {díbofU _| H$m¡Z-go {d{^Þ g§X ©̂ 
BboŠQ>́moS>m| H$m Cn`moJ hmoVm h¡ ? {H$gr EH$ BboŠQ´>moS> Ho$ 
g§`moOZ H$s ì`m»`m H$s{OE &  
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4. {ZåZ{b{IV _| go {H$Ýht Mma  Ho$ CÎma Xr{OE : 45=20 

(H$) {d{^Þ _¥Xm g§ñVam| Ho$ A{^bmj{UH$ bjUm| H$m g§jon 
_| dU©Z H$s{OE &  

(I) nmXnm| _| ~¥hV² nmofH$-VÎd H$m¡Z-go hmoVo h¢ ? nmXnm| H$s 
d¥{Õ _| ZmBQ´>moOZ VWm nmoQ>¡{e`_ H$s ^y{_H$m H$s 
ì`m»`m H$s{OE & 

(J) Ob H$s JwUdÎmm H$mo à^m{dV H$aZo dmbo àmH¥${VH$ 
H$maH$m| H$s ì`m»`m H$s{OE &  

(K) S>oar An{eï> Ho$ CnMma Ho$ {bE dmVZ {d{Y H$m g§jon 
_| dU©Z H$s{OE Am¡a Bggo g§~§{YV g_ñ`mE± {b{IE & 

(L>) EH$ AmXe© H$sQ>Zmer Ho$ A{^bjU {b{IE &  

5. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m± 

{b{IE : 45=20 

(H$) MmbH$Vm{_Vr` AZw_mnZ  

(I) gyMH$ gyú_Ord 

(J) H$mJµO dU©bo{IH$s  

(K) {díbofU Ho$ {bE _¥Xm Ho$ Z_yZo H$mo ~ZmZm 

(L>) dfm© Ob g§^aU  

 

 


